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KPR BB S (ZE—UE+A)

28 P2 I PR & &R 158 FERE
/&)

% g 6-10 7.6-8.5 8.1 yass
HEE (mg) 100 <20 <20 pss
BEEE V)48 &2 (mg/) 10 <2.0 <2.0 s
MY E (ng/l) 2000 260 - 1200 &10 pss
WAL 48 & (me/) 10 <0.5 <0.5 s
FALEEE (mg/l) 0.1 <0.04 - 0.063 0.05 yoss
BOTEIRE A E (me/) 100 <15-34.38 21.4 yoss
HIHE  (mg/D) 20 <10 <10 s
Mm&EE (mg/) 0.5 <0.3-0.3 0.3 yoss
FRER R E (me/) 1 <0.6 <0.6 s
FHEDEMER (mg/) 15 <7 <7 s
EEFEE (mg)) 2000 <100 - 470 321 yoss
HHhE  (mg/) 200 <10-24 18 s
M (0) 43 30-33 31.8 yiss
DR/ N= PR | B DL (BT s
EEeE

- (mg/) 2 <0.4 <0.4 =
$H (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
¥ (mg/D) 1 <0.3 <0.3 s
#1  (mg/D) 2 <0.5-0.95 0.69 yiss
#5  (mg/) 2 <1 <1 =
il (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
58 (mg/l) 2 <1 <1 =
R (mg/) 2 <0.4 <0.4 =
¥ (mgll) 5 <l-13 1.1 =
FE (mg/) 2 <1 <1 =
HHE2BYEEHS (ng) 10 <7.0-74 7.2 =




28 22 1l IR & B EIg 8 FEaRE
(/&)
B (mg/) 5 <1-3 1.7 v
#  (mg/) 10 <2 < yiss
2 8E
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AL LT (mgl) 0.01 <0.01 <0.01 v
FEZELEEY
K (mg/) 0.1 <0.06 <0.06 e
HEHEMEey :
1,1,1-= & Z FE (mg/) 0.05 <0.025 <0.025 =
ZEBEE
% & K 48 & (mg/l) 0.003 <0.003 <0.003 s
A EE -
B EENE & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 s
#5-90 (pc/l) 100 <100 <100 v
# FECBEEETE M 5 R 8% 8 8 80 0k - 87 R -
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R REREZRBERSE (ZZE—UE+H)

E3 75 i IR &k = W 1 8 FFERE
B/R)

() =+4oeEvsE @
R (mg/m’) 30 0.0 - 8.4 0.2 vy
— &AL (mg/m’) 200 0.2 - 1226 13.1 vy
BEilE (mg/m’) 60 0.1 - 16.8 1.4 vy
#AEE (mg/m’) 4 0.0 - 0.0 0.0 vy
A8 1Y
(Bl = & 1k & = &) 400 477 - 250.0 105.7 yos
(mg/m’)
A R (mg/m’) 20 0.0 - 23 0.2 pes
— & /B % (mg/m”) 100 0.2 - 639 4.3 pes
) B4E®
ok (mg/m?) 10 0.0 - 0.5 0.2 pes
— &1 bR (mg/m’) 50 6.2 - 24.1 12.9 pes
BEfE (mg/m’) 10 03 - 34 1.4 pes
#IEE (mg/m’) 1 0.00 - 0.00 0.00 yies
ALY
(ML - S (L& 5 200 87.8 - 117.7 105.5 s
(mg/m’)
4 TR (mg/m’) 10 0.02 - 0.35 0.23 =
— E B % (mg/m’) 50 1.8 - 8.7 4.3 =
(H) Hftr
AR EEY
(LB R & &2 H) 24 <1.7 <1.7 =
(mg/m’)
BEARALEY
(L@ btdaasE:5) 18.8 <13 <13 =
(mg/m’)
e 7& (LLWE BE 5T &) .
(me/m’) 37.5 35 35 =
B4E g (LIRBEETE) (mg/m) 55 <021 <021 Lt
R RCRAEE (mg/md) 5 <1.7 <1.7 =




EX 25 1 R R 45 R NASE FERE
(B/F)
EaeBE—8"Y
FEBEGE—EE
AELE RN 0.05 <0.010 <0.010 2
= (mg/m’)
EEeBE_E Y
W (mg/m’) 0.06 <0.002 <0.002 =
FEBECGE _EE
AELE =R 0.5 <0.078 <0.078 2
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 yiea
T (ng/m)) 0.075 0.025 0.025 =
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EX 22 1 R R 45 15 85 FERE
(B/F)
B—H o
8 (hx 1K
B i [ (7K) (E'Jiﬁ B 0105 124 2
)
EEE S %) |0 (;’Eﬁlﬁ 62-93 755 2
5)
EELE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 =
A= (ppm) 10 <0.5-0.85 0.51 =
#i  (ppm) <0.5-5.1 1.2
##  (ppm) <0.5 <0.5
5 (ppm) <1.0-1.7 1.0
¥ (ppm) <0.5 <0.5
g~ 88~ S5 - SR _
WE (ppm) 25 <2.5-7.1 3.2 E
# (ppm) 20 <1 <1 Lk
ALY (ppm) 10 <5 <5 pies
ZREE (ppm) 10 <.0-29 2.0 =
ALY (ppm) 5 <5 <5 pies
B EH S
T 45 By L
& ke 5000 <15 <15 =
= (ppm)
B %K R EE _
(ppm) 10 <5 <5 =
FAL Ky 42 2 _
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) | <1 <1 =

(ppb)




